
PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 1

Item ID Item Description List Price    

560.317 TINE, Shatter Knife, 1/8" 13.00$             
560.319 TINE, Shatter Knife, 1/4" 13.00$             
560.320 TINE, Shatter Knife, 3/8" 13.00$             
560.321 TINE, Coring Knife, 1/2'' 15.00$             
560.322 TINE, Coring Knife, 3/4" 15.00$             

0015 SPROCKET, 41A26 12.98$             
0043 Top, 634mm 192.06$           
0047 Arm, Timing 56.43$             
0069 6206/2RS/NR 7.26$               
0070 6006/2RS/NR 6.05$               
0074 SPROCKET,50B12 14.52$             
0098 Pocket, Spring 16.50$             
0110 Baffle, Right, End 61.49$             
0116 Arm, Tensioner, Drive Belt 25.30$             
0134 Pulley. Rotor 135mm 64.79$             
0137 Shaft 8 tines .5" Offset 252.56$           
0138 Shaft 8 tines, 1.8" Offset 252.56$           
0140 Bearing, Retainer 6204 11.00$             
0141 Bearing, Retainer 6205 11.00$             
0143 Plate, Right, End 134.97$           
0148 Roller, Frame, Right 56.54$             
0151 WASHER, M10 Sunk 3.85$               
0158 Arm, Tensioner, Transmission 23.87$             
0159 Plate, Left, End 108.02$           
0163 SPROCKET 50B24 40.26$             
0165 Disc, Shaft, Long 56.98$             
0166 TUBE 530mm 78.54$             
0168 Disc,Stub,Short 35.75$             
0169 Guard, Belt 230 mm 100.43$           
0172 Bearing, Retainer 6203 9.79$               
0173 Baffle, Roller, End 19.80$             
0174 Roller End 28.38$             
0176 Roller, Frame, Left 54.67$             
0183 6205-16/2RS/NR 6.60$               
0184 Grille, 634 mm Front 159.83$           
0185 Grille, 634 mm, Rear 133.54$           
0186 Retainer, 3, Bearings 37.40$             
0187 Bearing 40x12.7 7.15$               
0188 Arm, Lock, Right 22.22$             
0189 Arm, Lock, Left 20.13$             
0190 Pin, Lock 10.23$             
0191 Spacer, Arm 8.80$               



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 2

Item ID Item Description List Price    
0192 Arm, Transmission, 19.69$             
0193 Bearing 10*22*6 2.20$               
0194 Bolt, 1/2-20 UNF 96mm 8.14$               
0195 Bolt, 1/2-20 UNF 115mm 8.14$               
0197 1/4'' FEMALE ROD END 12.10$             
0198 Control Rod 47.52$             
0199 Baffle, Left, End 38.06$             

0202A Rotor Assembly  21 1,008.15$        
0202B Rotor Assembly  29 1,081.41$        
0202C Rotor Assembly  37
0203 Roller Frame Assembly 21 1,274.57$        

0203B Roller Frame Assembly 29 1,399.64$        
0203C Roller Frame Assembly 37
0211 Sprocket Chain Idler 15.18$             
0212 T-3 Shaft 110.00$           
0213 Roller Assembly 21 359.70$           

0213B Roller Assembly 29 417.12$           
0213C Roller Assembly 37
0214 T-2 Shaft 41.36$             
0215 SPROCKET, 41A14 12.98$             
0216 SPROCKET. 41B12 15.18$             
0217 SPROCKET, 41A10 7.70$               
0218 SPROCKET, 41B8 14.08$             
0220 Pulley 3V*90mm 19.05 Bore 20.68$             
0221 Pulley 3V400-.75 23.54$             
0222 Pulley 3V450-.75" 25.52$             
0223 Pulley 3V350-.5 20.68$             
0224 Pulley 3V400-.5 23.54$             
0225 Pulley 3V450-.5 25.52$             
0226 Pulley Idler 3"x.5 18.70$             
0227 Pulley Idler 2.5x.85 21.67$             
0228 Pulley AB Groove 112 56.98$             
0229 Disc,*285mm*10mm* 121.00$           
0230 Bolt M-24 X 24 0.88$               
0232 Connector, Angle 4.29$               
0233 Spring, Timing Arm 4.5" 49.61$             
0234 Connector, Bar, Short 10.45$             
0235 Connector, Bar, Long 12.65$             
0236 Spring, Timing Arm 5" 49.61$             
0237 Rubber Bumper 14.30$             
0238 Axle, Roller 680 mm 58.30$             
0241 Shaft, Drive 196mm 36.30$             
0242 SPROCKET,40B12 15.95$             
0244 6204-12/2RS/NR 6.16$               
0247 Shaft, Pivot 7.37$               



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 3

Item ID Item Description List Price    
0248 Pin, Trailer Latch
0250 Bracket, Lock Assembly 10.67$             
0251 Scrapper Bar 21 48.95$             
0252 Chain Guard 164.89$           
0253 Handlebar 21 113.08$           
0254 Handle, Side 75.90$             
0255 SHAFT, 11 Tine .5" Offset 269.50$           
0256 SHAFT, 11 Tine 1.8" Offset 269.50$           
0257 SHAFT, 14 Tine 1.5" Offset 299.42$           
0258 SHAFT, 14 Tine 1.8" Offset 299.42$           
0259 SHAFT, 17 Tine 356.40$           
0260 TUBE, 728mm 98.23$             
0261 TUBE, 926mm 127.60$           
0262 TUBE, 1124mm 137.50$           
0264 Handle, U-Bolt 6.49$               
0265 Shaft, Drive 306mm 61.05$             
0266 Shaft, Drive 396mm 61.05$             
0267 Shaft, Drive 1278mm 122.65$           
0268 Pulley, Cable 62mm 11.55$             
0269 Shaft, Axle 1280mm 116.05$           
0273 Standoff, Chain Cover 6.60$               
0274 Shaft, Axle 178mm 45.10$             
0275 Plug, Tube 40.70$             
0276 Pin, Brake 24mm 3.30$               
0277 Pin, Brake 42mm 3.63$               
0278 Clamp, LH Cable 7.59$               
0279 Clamp, RH Cable 7.15$               
0280 Spacer, Spring Block 11.44$             
0281 Linkage, Clutch 22.00$             
0283 Spacer,Fixed Tube Reinforcer 4.95$               
0285 Bracket, Gear Shift 37.62$             
0286 Handle, Clutch 35.20$             
0287 Bracket, Scapper Bar 9.02$               
0288 Top, 830 mm 242.11$           
0289 Top, 1028 mm
0290 Grille, 830 mm, Rear 159.06$           
0291 Grille, 1028 mm, Rear
0292 Guard, Belt 340 mm 127.27$           
0293 Guard, Belt 430 mm
0294 Grille, 830 mm Front 207.57$           
0295 Grille, 1228mm, Front
0296 Handlebar 29 48.40$             
0297 Handlebar 37 132.00$           
0300 Trailer Left Side Frame 80.52$             
0301 Trailer Right Side Frame 80.52$             



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 4

Item ID Item Description List Price    
0302 Trailer 21 Front Cross Frame 67.10$             
0303 Trailer Rear Cross Frame 68.97$             
0304 Trailer Left Hitch Mount 58.08$             
0305 Trailer Right Hitch Mount 58.08$             
0306 Trailer Hitch Tube 46.75$             
0307 Trailer Hitch Tongue 20.79$             
0308 Retainer, Bearing 47 mm 25.41$             
0309 Retainer, 2, Bearings 29.04$             
0310 Pivot 26.29$             
0311 Coring Tine Extension Bolt 1.25$               
0312 Stand-off,Clutch Linkage
0315 Trailer Lock Plate 14.08$             

0317T TINE, Shatter Knife, 1/8" 13.00$             
0318 Belt Guide 16.94$             
0319 Scrapper Bar 29 54.01$             

0319T TINE, Shatter Knife, 1/4" 13.00$             
0320T TINE, Shatter Knife, 3/8" 13.00$             
0321 Shim 4.18$               

0321T TINE, Coring Knife, 1/2" 15.00$             
0322 Clutch Stop 32.12$             

0322T TINE, Coring Knife, 3/4" 15.00$             
0323 Handlebar Brace 33.22$             
0324 Trailer 29 Front Cross Frame 82.83$             
0325 Trailer 29 Rear Cross Frame 82.83$             
0326 Axle, Roller 878 mm 65.12$             
0327 Handlebar Brace 45* 20.35$             
0328 Gear Shift Selector 43.56$             
0329 Handlebar Brace Left Side 39.71$             
0330 Roller Shaft 1076mm
0332 Coring tine, Extension 4.37$               
0335 Engine, Plate
0700 T-1 Shaft 21 282.37$           

0700B T-1 Shaft 29 307.12$           
0700C T-1 Shaft 37
0701 T-4 Shaft 57.20$             
0702 Handlebar Assembly 512.16$           

0702A Handlebar Assembly
0702B Handlebar Assembly 29 509.52$           
0703 Stub Shaft RH 591.69$           
0704 Control Shaft Assembly 349.14$           
0705 End Plate Assembly RH 428.23$           
0706 End Plate LH 183.15$           
0707 Baffle Assy. RH 391.38$           
0708 Baffle Assy. LH 52.25$             
0709 Housing Assy. 21 3,139.95$        



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 5

Item ID Item Description List Price    
0709B Housing Assy. 29 3,290.10$        
0715 Pulley Mount
0716 Idler Sprocket Mount
1002 Shipping Box
1003 Handlebar Pad 21 33.00$             
1004 Handlebar Pad 29 39.82$             
1005 Handlebar Pad 37 46.64$             
1007 Pin, Roll 1/4" x 3/4" 0.66$               
1008 Washer 5/16 x 1.25 x 14GA 0.66$               
1009 3/8 USS Washer 0.33$               
1010 WHEEL ASSY 259.38$           
1011 ROLLER, Tube 1210 mm 310.75$           
1012 ROLLER, Tube 965 mm 208.45$           
1013 ROLLER, Tube 765 mm 196.90$           
1014 ROLLER, Tube 567 mm 146.30$           
1017 Spring, Drive Belt Tension 23.21$             
1018 Spring, Trailer Latch 11.00$             
1019 Belt, Drive 45.84$             
1020 Belt, Transmission 29.70$             
1021 Engine 127, 550, 6:1 674.49$           
1022 Engine 205 Vanguard 6:1 873.00$           
1030 M5x0.8x14 Pan Head 0.55$               
1031 M6x1.0x24 Hex-head Bolt Zinc 0.33$               
1032 M6x16 Buttonhead 0.55$               
1033 M8x1.25x16 Hex-head Bolt Zinc 0.55$               
1034 M8x16 Buttonhead Screw 1.21$               
1035 M8x1.25x10 Hex-head Bolt Zinc 0.55$               
1036 M10x30,Buttonhead Screw 2.20$               
1037 M6X1.0X16, Socket-Head,Zinc 0.33$               
1039 M10x25 Bolt Grd.8.8 Zinc 1.65$               
1040 M6 Hex Nut 0.11$               
1041 M10x1.5 Hex-nut Nylon Flanged 1.76$               
1042 M10-1.5x30 Coupler Nut 3.63$               
1043 M6x1.0x12 Hex Bolt Zinc 0.22$               
1044 M6x1.0x16 Set-screw,Cup 0.44$               
1045 M5x0.8x8 Set-screw, Cup 0.33$               
1046 M8x1.25x40 Bolt 0.77$               
1047 M10 x1.25x30 Hex Bolt Zinc 1.32$               
1048 M8 Hex Nut 0.33$               
1049 5/16-18, 5/8,Flngd Bolt Zinc 0.88$               
1050 3/8*16 x5/8 GR8 Bolt 0.77$               
1051 5/16--18 x 2.5  Bolt Grd5 Zinc 1.32$               
1052 M8x1.25x10 Button Head Zinc 1.98$               
1056 3/8-16 x 1.50 Carriage Bolt 1.21$               
1057 M6x1.0x25,Socket-head,Zinc 1.32$               



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 6

Item ID Item Description List Price    
1060 1/4-28x5/32 Nut Zinc 14.52$             
1061 M6 Nylon Lock Nut Zinc 14.74$             
1062 5/16*18 Nylon Flange Nut Zinc 0.44$               
1064 5/16-18x1-1/8 Coupler Nut Zinc 0.55$               
1065 1/2-20 Thin Nylon Nut Zinc 0.55$               
1066 1/2-20 Hex Nut Zinc 0.55$               
1068 Bushing 1/4x3/8x1/4 2.64$               
1069 Bushing 3/8x1/2x1/4 Flanged 2.64$               
1070 Chain 41x 114 Pitches 49.76$             
1071 Chain 41x 48 Pitches 21.04$             
1072 Chain 40-2 12 Pitches 16.88$             
1073 Chain 50 X-Ring 38P 150.64$           
1074 Spring Rotor Lock 8.36$               
1075 Roll Pin 0.33$               
1076 Bolt M6x1.0 x 55  zinc 0.88$               
1078 Bushing 1/2x5/8x1.25 3.74$               
1079 Shim 3/8 x 3/4 x 0.020 0.99$               
1080 Machine Bush 1/2x7/8 14GA 0.88$               
1081 Machine Bush 3/4x1.25 14GA 1.32$               
1082 Machine Bush 1.0x1.5 14 GA 1.43$               
1083 5/16 x .687  USS Washer zinc 0.11$               
1088 7/16x1.25  USS Washer Zinc 0.44$               
1089 Wave Washer .953x.1.557x.020 1.54$               
1090 Key 3/16 Square x 1.5" 1.21$               
1091 Key 3/16 Square x 3/4 1.21$               
1092 5/16-18 Nut,Zinc 0.44$               
1094 U Bolt 5/16  Zinc 8.25$               
1095 M6x1.0x35 Pan-head Screw 0.33$               
1096 3/8x2.5 Pin With Square Wire 6.82$               
1097 Knob 4 Arm M8x1.25 15.40$             
1098 Cotter Pin 1/16" x 3/4" 0.11$               
1099 5/16*18 Hex Nut 0.33$               
1100 Washer 5/16x1.25x.120 Zinc 0.33$               
1101 M8-1.25x30 Hex Bolt Zinc 0.77$               
1102 Machine Bush 1/2x7/8 18 GA 1.43$               
1103 M5x.8x10 Hex Cap Screw Zinc 0.33$               
1104 M5x0.8x16 Hex-head Bolt Zinc 0.33$               
1105 Key 1/4 square x 5/8" 1.54$               
1106 M6x1.0x25 Hex-head Bolt Zinc 0.33$               
1107 M6x1.0 Hex Nut Zinc 0.11$               
1108 1/2-20 Jam Nut Zinc 0.44$               
1109 M10 Flanged Nylon Hex Nut 0.33$               
1110 Handle Grip 3/16x1.0x4.5 Red 17.82$             
1112 Spring Extension 1/4" x 1.75" 8.36$               
1113 Screw M6 x 10 Flat Head zinc 0.88$               



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 7

Item ID Item Description List Price    
1114 Washer, nylon 1/2" x 0.20 0.11$               
1115 Spring, 0.375x4.0x0.048 17.71$             
1117 Washer, fender 5/16 thin 0.33$               
1118 Nut, M10x1.5, Thin Hex Nut 0.22$               
1120 Decal, 21, Side 21.23$             
1121 Decal, 21, SN# 12.54$             
1122 Decal, 29, Side 21.23$             
1123 Decal, 29, SN# 12.54$             
1124 Decal, 37, Side 21.23$             
1125 Decal, 37, SN# 12.54$             
1126 Decal, Sheet, Walker 25.41$             
1127 M8x1.25x25, Flathead Zinc 1.98$               
1128 5/16 x 2.5 bolt Gr5 zinc
1129 3/8 x 3.00" bolt  grade 5 zinc
1130 Hitch Tube Plug 3.63$               
1132 Handle Pad 8" part 6.82$               
1133 1/4 x .625 USS Washer Zinc
1134 1/4 Machine Bushing 91124A060 0.13$               

560.00-02 ENGINE, Battery Box 45.00$             
560.00-04 ENGINE, Battery 65.00$             
560.00-05 ENGINE, Battery, Cable 20.00$             
560.03-01 ROLLER, Bearing Front 35.00$             
560.03-02 ROTOR, Mounting, Bearing 75.00$             
560.03-03 ROTOR, Dbl Sprocket, Bearing 75.00$             
560.03-04 TINE, Shaft, Bearing 60.00$             
560.03-05 ENGINE, Jack Shaft, Bearing 48.00$             
560.03-06 GEAR, Box, Bearing 48.00$             
560.03-07 ROLLER, Rear, Bearing 48.00$             
560.03-08 WHEEL, Bearing 34.00$             
560.03-09 ENGINE, Control Shaft, Bearing 24.00$             
560.03-10 HITCH, Pivot, Bearing 48.00$             
560.03-11 GEAR, Box, Shaft Bearing 36.00$             
560.03-12 TINE, Shaft, Bearing 80.00$             
560.03-14 GEAR, Box, Front Bearing 45.00$             
560.03-15 WHEEL, Lift, Cam, Bearing 22.00$             
560.04-02 ENGINE, Air Cleaner, Cover 60.96$             
560.04-03 ENGINE, Hourmeter 95.00$             
560.04-05 ENGINE, Air Filter 14.63$             
560.04-06 ENGINE, Pre-Filter 3.99$               
560.04-07 ENGINE, Oil Filter 12.30$             
560.04-08 ENGINE, 23HP Vanguard 2,200.00$        
560.04-09 ENGINE, Muffler, 23HP 190.00$           
560.04-11 ENGINE, Regulator, Voltage 72.80$             
560.04-12 ENGINE, Fuel Pump 51.75$             
560.04-13 ENGINE, Fuel Tank Low Perm 95.00$             



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 8

Item ID Item Description List Price    
560.04-14 ENGINE, Fuel Tank Clamp Short 16.00$             
560.04-15 ENGINE, Fuel Tank Clamp Long 16.00$             
560.04-17 ENGINE 23HP, Spark Plug 8.00$               
560.05-01 DECAL, Lube 9.00$               
560.05-02 DECAL, PlanetAir Aerator 18.00$             
560.05-03 DECAL, Caution, Prevent Person 6.00$               
560.05-04 DECAL, HD 50 9.50$               
560.05-05 DECAL, Patented Earth Shatter 9.50$               
560.05-06 DECAL, Keep Guards in Place 6.00$               
560.05-07 DECAL, Ruler 6.00$               
560.05-08 DECAL, Low-High Head Pressure 3.50$               
560.05-09 DECAL, Roller Up & Down 2.00$               
560.05-10 DECAL, Crushing Hazard 6.00$               
560.05-11 DECAL, Tine Installation 6.00$               
560.05-14 DECAL, Engine Maintenance 6.00$               
560.05-15 DECAL, Serial # Tow 20.00$             
560.05-19 DECAL, Danger Rotating Part 6.00$               
560.05-20 DECAL, Flag Warning 6.00$               
560.05-21 DECAL, Serial # PTO 20.00$             
560.05-22 DECAL, Grease,Pivot 3.00$               
560.05-24 DECAL, Ruler, RH 6.00$               

560.06 ROTOR, Spacer, Right 10.00$             
560.06-01 PULLEY, Engine 65.00$             
560.06-02 PULLEY, Engine, Bushing 22.00$             
560.06-03 PULLEY, Reduction 120.00$           
560.06-04 PULLEY, Reduction, Bushing 28.00$             
560.06-05 PULLEY, 5", Tow 48.00$             
560.06-06 PULLEY, 12.4", Rotor 120.00$           
560.06-07 PULLEY, Rotor, Bushing 36.00$             
560.06-08 BELT, Drive, Set 89.00$             
560.06-09 BELT, Reduction Set 92.00$             
560.06-10 PULLEY, Drive, Bushing 27.00$             
560.06-11 BELT, 2B61 89.00$             
560.06-12 BELT, PTO, B61, 1000 PTO 40.00$             
560.06-15 BELT, Drive 90.00$             
560.06-16 BELT, Reduction, Set 92.00$             

560.07 ROTOR, Spacer 10.00$             
560.07-01 HITCH, Hose, Rear 58.00$             
560.07-02 HITCH, Hose, Front 58.00$             
560.07-03 HITCH, Hose Coupler Set 42.00$             
560.07-04 HITCH, Hose, Front 50.00$             
560.07-05 HITCH, Hose, Elbow 20.00$             
560.07-06 HITCH, Hose, Rear 50.00$             

560.08 HITCH, PTO, Chain 30.00$             
560.08-01 PULLEY, 5.2", PTO 178.08$           



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 9

Item ID Item Description List Price    
560.08-02 PULLEY, 9.8", PTO 82.64$             
560.08-03 BELT, PTO, 2B57 78.00$             
560.08-04 PULLEY, 5.2", PTO, Bushing 24.00$             
560.08-05 BELT, PTO, 2B59 78.00$             
560.08-06 PULLEY, 7", 540 PTO 65.00$             
560.08-07 PULLEY, 4", 1000 PTO 45.00$             
560.08-08 PULLEY, 7", Bushing 38.00$             
560.08-09 PULLEY, 4", Bushing 24.00$             

560.09 PULLEY, Tensioner 45.00$             
560.104 ENGINE, Jack Shaft, Shield 38.00$             
560.12 WHEEL & BEARINGS 95.00$             

560.12-01 WHEEL, Bearing 21.00$             
560.12-04 WHEEL,  Assembly 18 x 9 145.00$           
560.13-01 GEAR, Box 422.94$           
560.13-02 PTO, Shaft, Standard Joints 395.00$           
560.13-03 GEAR, Box, Extension 32.00$             
560.13-04 GEAR, Box, Seal #13739 16.00$             
560.13-05 GEAR, Box, Seal 10.00$             
560.13-07 PTO, Shaft, Standard Joints 395.00$           
560.132 ROLLER, Leaf, Front 60.00$             
560.133 ROLLER, Leaf, Rear 40.00$             
560.137 TIMING, Chain 145.00$           

560.137-01 TIMING, Chain 145.00$           
560.137-02 TIMING, Chain, Master Link 8.50$               

560.14 GEAR, Box, Shaft Guard 18.00$             
560.142 HOUSING, Rear Flap 36.00$             

560.142-01 HOUSING, Flap, Clip 1.00$               
560.143 BELT, Tensioner Spring, 4" 19.80$             
560.15 ENGINE, Control Shaft, Spring 24.00$             

560.15-02 ENGINE, Control, Chain 8.00$               
560.151 SPRING, Gas 12.8"  250# Tow 45.00$             
560.152 WHEEL, Spring, Gas 36.00$             

560.152-01 WHEEL, Spring, Ball Stud 3.20$               
560.152-02 WHEEL, Spring Socket 3.25$               

560.153 SPRING, Gas 2.25" x 40 lbs. 24.00$             
560.16 BELT, Tensioner, Arm 40.00$             

560.161 WHEEL, Hub Assy. 58.00$             
560.162 HITCH, Receiver 30.00$             
560.170 BELT, Guard 90.00$             
560.171 BELT, Guard, Reduction 120.00$           
560.176 ROLLER, Rear, Assy 680.00$           

560.177-00 SPRING, Gas 12.8"  250# Tow 45.00$             
560.177-02 TIMING, Spring 31.00$             

560.180 HITCH, Lift, Cylinder 275.26$           
560.180-03 Trifecta  Lift Cylinder 315.00$           



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 10

Item ID Item Description List Price    
560.180-04 Cylinder Rear Seal 13.00$             

560.182 HITCH, Pole, Assy 125.00$           
560.183 ROLLER, Front, Assy 500.00$           

560.184L WHEEL, Arm Assembly, LT 200.00$           
560.185L WHEEL, Jack, Lower Left 340.00$           
560.185R WHEEL, Jack, Lower, Right 340.00$           
560.190 WHEEL, Jack, Assembly 120.00$           

560.190-01 WHEEL, Jack, Handle 27.00$             
560.190-02 WHEEL, Jack, Handle 12.00$             
560.190-L JACK UPPER  LEFT 75.00$             
560.194 HOUSING, Assy, HD 50 Tow 2,800.00$        
560.195 HOUSING, Assy, HD50 PTO 2,200.00$        
560.198 HITCH, Lift Warning Bar 15.00$             
560.201 HITCH, Hose Bracket 3.00$               
560.202 ENGINE, Control Arm, RT 18.00$             
560.203 ENGINE, Control Arm, LT 20.00$             
560.204 ENGINE, Control Shaft 70.00$             
560.206 TIMING, Spring, Block 52.00$             
560.207 HITCH, Swing Arm 15.00$             
560.208 ENGINE, Throttle, Spring Mount 18.00$             

560.208-02 ENGINE, Throttle, Chain 6.00$               
560.212 ENGINE, Tank, Clamp, Left 24.00$             
560.213 ENGINE, Tank, Platform 38.00$             
560.214 ROTOR, Pulley, Spacer 12.00$             
560.215 ENGINE, Tank, Clamp, Right 18.00$             
560.217 ENGINE, Battery, Clamp 38.00$             

560.22-01 ENGINE, Remote Switch 266.75$           
560.22-02 ENGINE, Actuator, Clutch 296.76$           
560.221 TIMING, Arm, Assy 185.00$           
560.226 Roller Assy. with bearings 800.00$           
560.230 ROTOR, Disc 400.00$           
560.231 ROTOR, Center Shaft 500.00$           

560.2317 HITCH, Pivot, Pin 10.00$             
560.232 ROTOR, Center Shaft Retainer 15.00$             
560.233 TIMING, Tool 35.00$             
560.236 TIMING, Arm, Bumper 16.00$             

560.236-02 TIMING, Arm, Bumper, Male 16.00$             
560.237 BELT, Tensioner Pivot 40.00$             
560.238 WHEEL, Arm, Pivot 18.50$             
560.239 WHEEL, Arm 104.00$           
560.24 TINE, Shaft, Sprocket 110.00$           

560.240 WHEEL, Plate, Left 175.00$           
560.241 WHEEL, Plate, Right 175.00$           
560.242 WHEEL, Scrapper, Right 29.00$             
560.243 WHEEL, Scrapper, Left 29.00$             



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 11

Item ID Item Description List Price    
560.244 WHEEL, Jack, Support 28.00$             
560.246 WHEEL, Axle 40.00$             
560.247 WHEEL, Gauge 21.00$             
560.248 ROLLER, Bushing 14.00$             
560.249 ROLLER, Axle 102.00$           
560.251 HITCH, Verticle, Tube 120.00$           
560.252 HITCH, Swing, Arm 12.00$             
560.253 HITCH, Swing Arm, Pin 20.00$             
560.254 BELT, Guide/Timing,Tool 32.00$             
560.255 HITCH, Pivot, Pin 18.00$             
560.257 ROLLER, Assy, Front/Rear 540.00$           
560.258 ROTOR, Dbl Sprocket 27 370.00$           
560.259 TINE, Shaft, Sprocket 9 110.00$           
560.26 TINE, Shaft, Bearing Retainer 34.00$             

560.262 Left Jack Assy. No Wheel 500.00$           
560.263 Right Jack Assy, No Wheel 500.00$           
560.264 WHEEL, Gauge 18.00$             
560.266 BELT, Tensioner, Pivot, Spacer 2.00$               
560.267 HITCH, Warning Flag Assy 22.00$             
560.270 PIN, 3/4" X 2.5" 2.00$               
560.271 ENGINE, Control, Rod 21.00$             
560.272 ENGINE, Control, Rod, End 12.00$             
560.273 ENGINE, Control, Standoff 5.00$               
560.274 HITCH, Warning, Spring & Cable 24.00$             
560.276 HOUSING, Front Tube, Cap 10.00$             
560.277 HOUSING, Rear Tube, Cap 8.00$               
560.278 HITCH, Vertical Tube, Cap 10.00$             
560.279 ENGINE, Throttle, Spring 5.00$               
560.280 HITCH, 2" Ball 15.00$             
560.281 HITCH, Plate 180.00$           
560.284 HOUSING, Nut, Plate 20.00$             
560.285 TIMING, Spring, Block, Spacer 6.00$               
560.287 HITCH, Cylinder, Pivot 20.00$             
560.289 TINE, Shaft, Spacer, 3" Offset 8.00$               
560.290 TINE, Shaft, Spacer, 1" Offset 8.00$               
560.300 HITCH, Pole, PTO 125.00$           
560.301 HITCH, Lift Cylinder, Bushing 10.00$             
560.303 PTO, Shaft with CV joints 855.00$           
560.304 HITCH, Lift Cylinder, PTO 290.00$           
560.311 Tine extension bolt. 1.25$               
560.312 Tine Extension 2.68$               
560.313 TINE, Bolt Kit (for 48 tines) 75.00$             
560.314 TINE, Bolt 3/8" UNC x 1 1/4" 1.00$               
560.315 TINE, Bolt, Sq. Hd. 3/8" UNC 1.00$               
560.316 TINE, Bolt Jam Nut 3/8 UNC 0.50$               



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 12

Item ID Item Description List Price    
560.317 TINE, Shatter Knife, 1/8" 13.00$             
560.319 TINE, Shatter Knife, 1/4" 13.00$             
560.320 TINE, Shatter Knife, 3/8" 13.00$             
560.321 TINE, Coring Knife, 1/2'' 15.00$             
560.322 TINE, Coring Knife, 3/4" 15.00$             
560.326 HITCH, Brkt, Toro (Pair) 45.00$             
560.328 HITCH, Pivot Plate 60.00$             
560.332 ROLLER, Leaf, Bushing Set (5) 10.00$             
560.334 HITCH, 3 Point, Lwr Brkt 80.00$             
560.335 HITCH, 3 Point, Upper Brkt 40.00$             

560.335-01 HITCH, 3 Pt, Chain w/2 clevis 35.00$             
560.341 TIMING, Arm, Assembly 185.00$           
560.344 HITCH, Spacer 20.00$             
560.346 TINE, Shaft 35 holes,Tri-fecta 1,000.00$        
560.347 TINE, Shaft 24 holes,Tri-fecta 1,000.00$        
560.348 TIMING, Chain 145.00$           

560.348-02 TIMING, Chain, Repair, Link 8.00$               
560.349 WHEEL, Arm, Pivot, Washer 3.00$               
560.354 HITCH 3 Point,Tow, Bracket 185.00$           

560.355-01 HITCH, Chain & Pivot Assembly 98.00$             
560.36 ROTOR, Dbl Sprocket 370.00$           

560.375 ENGINE, Plate 140.00$           
560.395 HITCH, Tow, Pivot, Plate 60.00$             
560.399 BELT, Spring, Mount 8.00$               
560.403 HITCH, Hose Elbow 12.00$             
560.404 HITCH, Cylinder Hose 58.00$             
560.405 HITCH, Cylinder Hose 58.00$             
560.406 WHEEL, Pivot Shim 4.00$               
560.407 WASHER, 3/8" Flat 0.20$               
560.408 HITCH, Pin 10.00$             
560.41 TINE, Shaft, 3'' Offset 700.00$           

560.411 BOLT, 14mm X 25.4mm 1.00$               
560.412 BOLT, 5/16" X 1.0" 0.80$               
560.413 BOLT, 3/8" X 1.0" 0.80$               
560.414 BOLT, 5/16" X 1.5" 0.80$               
560.415 BOLT, 3/8" X 1.0" 0.80$               
560.416 BOLT, 5/16" X 2" U-Bolt 3.00$               
560.417 CLIP, 5/16" Panel 0.20$               
560.418 WASHER, 3/8" Flat 0.20$               
560.419 WASHER, 5/16" Flat 0.20$               
560.42 TINE, Shaft, 1'' Offset 700.00$           

560.420 BOLT, 1/2" X 1.0" UNF 1.00$               
560.421 WASHER, 1/2" Flat 0.20$               
560.422 NUT, 3/8" 0.25$               
560.423 NUT, 5/16" Lock 0.25$               



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 13

Item ID Item Description List Price    
560.424 WASHER, 1/2" Split 0.20$               
560.425 BOLT, 3/8" X 3.0" 1.00$               
560.426 NUT, 3/8" Lock 0.25$               
560.427 NUT, 5/16" 0.25$               
560.428 CLIP, Flag Pin 0.28$               
560.43 TINE, Shaft, Sprocket Retainer 15.00$             

560.430 BOLT, 5/16" X 3/4" Button Head 1.00$               
560.431 BOLT, 5/16" X 3.0" 1.00$               
560.432 BOLT, 1/2" X 1.25" 1.00$               
560.433 BOLT, 1/2" X 3.0" 1.00$               
560.434 NUT, 1/2" 0.25$               
560.435 PIN, With Ring 5.00$               
560.436 NUT, 1/4" Lock 0.25$               
560.437 NUT, 1/4" 0.25$               
560.438 BOLT, 1/4" X 1.0" 1.00$               
560.44 TINE, Shaft, Spacer 12.00$             

560.440 BOLT, 1/2" X 1.0" 1.00$               
560.441 CLIP 0.24$               
560.442 PIN 0.24$               
560.443 BOLT, 3/8" X 3/4" C-Sunk Head 1.00$               
560.444 BOLT, 3/8" X 2.25" C-Sunk Head 3.00$               
560.446 BOLT, 1/2" X 1.5" 1.00$               
560.447 BOLT, Wheel Pivot 5/8" X 3.0" 5.00$               
560.448 BOLT, 1/2" X 3/4" 1.00$               
560.449 NUT, 5/8" Wheel Pivot Nut 2.00$               
560.45 TINE, Shaft, Spacer 8.00$               

560.450 BOLT, Rnd. Hd. 1/2"X3.5" 0.40$               
560.451 ZERK, Grease 0.24$               
560.452 PULLEY, 1/4" Key 2.00$               
560.453 PULLEY, Bumper 3.00$               
560.454 WASHER, 5/16" Split 0.20$               
560.455 BOLT, 5/16" X 1.0" Button Head 0.80$               
560.456 BOLT, 1/2" X 3/4"UNC 1.00$               
560.457 BOLT, 3/4" X 1.5"UNF 0.25$               
560.458 BOLT, 5/8" X 2.0"UNF 3.00$               
560.459 BOLT, 3/8" X 3/4" 0.80$               
560.460 BOLT, 3/8" X 2.75" 1.00$               
560.492 ROLLER, Leaf, Brace 32.00$             
560.51 ENGINE, Jack Shaft 45.00$             

560.51-02 ENGINE, Jack Shaft 80.00$             
560.517 WHEEL, Lift, Arm 60.00$             
560.518 HITCH, Spring, Arm 60.00$             
560.538 ROLLER, Leaf, Ctrl Arm w/bush 20.00$             
560.541 Trifecta Housing
560.551 HITCH, Swing Arm 20.00$             



PlanetAir Turf Products, LLC
Item Price List

Filter Criteria includes: 1) Active Items. Report order is by ID. Report is printed with shortened descriptions. 

12/12/16 at 4:52 PM Page: 14

Item ID Item Description List Price    
560.555 TIMING, Arm 185.00$           
560.570 ENGINE, Control, Rod 20.00$             
560.571 WHEEL, Lift, Rod 50.00$             
560.600 WHEEL, Lift, Cam 240.00$           
560.601 HITCH, Verticle, Tube 120.00$           
560.602 ENGINE, Control Shaft 100.00$           
560.603 BELT, Guard, Drive 90.00$             
560.604 BELT, Guard, Reduction 120.00$           
560.605 ROLLER, Rear Axle 200.00$           
560.606 ROLLER, Rear, Spring Lo Press 24.00$             
560.607 WHEEL, Arm 104.00$           
560.608 WHEEL, with Tire, Tri-fecta 145.00$           
560.609 ROLLER, Rear, Spring Hi Press 24.00$             
560.610 WHEEL, Jack, Assy RH 65.00$             
560.611 WHEEL, Jack, Assy LH 65.00$             
560.612 WHEEL, Jack, Nut Assy (2 req) 20.00$             
560.613 ROLLER, Assembly, 16" 200.00$           
560.614 Roller Frame Trifecta 1st 540.00$           
560.615 ROLLER, Rear, Spring, Brkt 20.00$             
560.616 ROTOR, Lock, Handle 20.00$             
560.617 HITCH, Tow Block 54.00$             

560.617-02 ROLLER, Rear, 54" 680.00$           
560.618 ROLLER, Shaft, Front 40.00$             
560.619 ROLLER, Axle Rear ,Trio 110.00$           
560.62 WHEEL, Arm, Stop 6.00$               

560.620 Roller Frame Trio 1st Design 400.00$           
560.621 ROTOR, Lock, Plate 30.00$             
560.622 Axle, Rear Wheels
560.623 Roller Frame Trifecta 2nd Desi 540.00$           
560.624 Leaf Spring, Short 120.00$           
560.625 Leaf Spring, Long 120.00$           
560.65 WHEEL, Jack, Clamp 16.00$             

560.65-01 WHEEL, Jack, Clamp, Bolt Kit 18.00$             
560.720 Roller Frame, Pivot Shaft 175.00$           
560.901 Trigger 21.00$             
560.902 Switch, Kill, Bracket 13.00$             
560.903 Switch Kill 14.00$             


